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Question No. 1

Second Battle of Panipat took place in the year-

A) 1526 B) 1761
C) 1504 D) 1556
qread @ qEdr @B 9§ q §§ oAy
A) 1526 B) 1761
C) 1504 D) 1556
Answer Key : D Your Response : D (Correct)

Question No. 2

Which of the following apparatus is used to determine the specific gravity of the soil?
A) Penetrometer B) Tachometer

C) Pycnometer D) Graphometer

et & & =l @1 3usn, H{or F AR qEE A9 e F AT ke R Swer 87

A) YacHEY (Penetrometer) B) <&@ (Tachometer)
C) TeaAHT (Pycnometer) D) s (Graphometer)
Answer Key : C Your Response : C (Correct)

Question No. 3

If the thin cylindrical shell whose diameter is 'd' is subjected to an internal pressure 'p', then the
ratio of longitudinal stress to the hoop stress is-

A) 1 B) 2

C) 1/2 D) 3/4



IfE el SR A foaear sarg 'd' 8, 3idaRe o p' & 3refer § 3R 3eeed wiawer 3R
T B T I et gl 82

A) 1 B) 2
C) 1/2 D) 3/4
Answer Key : C Your Response : C (Correct)

Question No. 4

Project Tiger was first initiated in India in the year-
A) 1973 B) 1980

C) 1970 D) 1990

Hoie TEIR AR H Ygeoll IR e Y& AT a/=m Ar?

A) 1973 B) 1980
C) 1970 D) 1990
Answer Key : A Your Response : A (Correct)

Question No. 5

The necessary condition of equilibrium of a body is-

A) B)

YFy=0.YM=0 Y Fx=0.> M=0

C) D)

> Fx=0,>Fy=0 > Fx=0>Fy=0,> M=0



oy grEm ¥ grEaEEyT f FEEE Y gl

A) B)
YFy=0.YM=0 Y Fx=0,> M=0
C) D)
> Fx=0>Fy=0 > Fx=0>Fy=0>M=0
Answer Key : D Your Response : D (Correct)

Question No. 6

Which type of celestial body is the Sun?

A) Satellite B) Planet
C) Meteor D) Star
¥ fFE 9HR T @A s 87
A) 39TE B) 1§
C) 3o (Meteor) D) aru
Answer Key : D Your Response : D (Correct)

Question No. 7

A concave mirror produces 2 times magnified real image of an object placed 15 cm in front of it.
At what distance from the front of the mirror is the image located?

A) 25cm B) 30cm

C) 15cm D) 20 cm



U IHadd gUul, 3¥$ FHA 15 W A gt W & Rl avg H 2 I IEfta adfaw
yRafda 3eqet Far §1 9fafa, afor & ave fraeh gff W e ghm?

A) 25 qHT B) 30 &=
C) 15 Q= D) 20 T
Answer Key : B Your Response : Not Answered

Question No. 8

The amount of solute present per unit volume or per unit mass of the solution is known as the-

A) Precipitation B) Concentration
C) Solubility D) Dissociation
g & 9 515 gegdAT a1 9fa 55 Iaas & R@eT $r A F+r ¥ ® F ST
ST ¢l
A) 37a89oT (Precipitation) B) @igar (Concentration)
C) faeiaar (Solubility) D) 9T (Dissociation)
Answer Key : B Your Response : B (Correct)

Question No. 9

The coefficient of curvature for a well graded soil, must be from-

A) 0.5t01.0 B) 3.0t04.0
C) 40t05.0 D) 1.0t0 3.0
3BT TE W FANihd AL & fAT Fhdr JoT (coefficient of curvature) giar =1fev|
A) 059 1.0 B) 3.0 & 4.0
C) 40¥ 5.0 D) 1.0 & 3.0
Answer Key : D Your Response : D (Correct)

Question No. 10

The various shapes of the bright part of the moon as seen during a month are called as what?

A) Sizes of the moon B) Shapes of the moon



C) Phases of the moon D) Patterns of the moon

U AP & Rt @ & arelr e & droq swer v RAffesr angpfadt @ Far wer ST 87

A) TGHAT & 3R (Sizes of the moon) B) TgAT dr 3mehfaar (Shapes of the moon)
C) dgHT FI FH¥ (Phases of the moon) D) @gHT & YeaT (Patterns of the moon)
Answer Key : C Your Response : C (Correct)

Question No. 11

A canal which is used for irrigation all year round is called-

A) Ditch canal B) Continuous canal

C) Perennial canal D) Seasonal canal

g R F Qv AT 78T (canal) Fgerar gl

A) f3T #gI (Ditch canal) B) @fe=g3rd wgT (Continuous canal)

C) uRfager 51T (Perennial canal) D) ¥HisieTol «7e¥ (Seasonal canal)
Answer Key : C Your Response : C (Correct)

Question No. 12

Which of the following dams is located on the river Ravi?
A) Ukai B) Baglihar

C) Pong D) Thein

T 78 W RAfaf@a F & Fia ar g g 2

A) IHE B) werforeR
C) uiar D) ==t
Answer Key : D Your Response : D (Correct)

Question No. 13

In which of the following states are the Ellora caves located?

A) Andhra Pradesh B) Karnataka



C) Rajasthan D) Maharashtra

TeRT $Y TEE ST F e T F Reua 82

A) 3T geRr B) Felcsh
C) Tsredr D) HERISE
Answer Key : D Your Response : D (Correct)

Question No. 14

Who among the following is NOT a boxer?

A) Asunta Lakra B) Diwakar Prasad
C) Mishal Banjamin Lakra D) Laxmi Padiya
gt & FT T TS 7 82
A) 3T T B) @ vare
C) fHemer SofAe T D) @& gfsar
Answer Key : A Your Response : Not Answered

Question No. 15

With the help of which device is potential difference measured?
A) Rheostat B) Ohm meter

C) Ammeter D) Voltmeter

Roaiat & A FE a7 G@rT Far smar 82

A) Rareee B) 31 #AlX
C) THIX D) dlecHlex
Answer Key : D Your Response : D (Correct)

Question No. 16

Which hill station is located in Andhra Pradesh?

A) Dalhousie B) Horsley Hills



C) Darjeeling D) Nainital

SoTH § hieT AT el T 317er wowr 7 foua 82

A) solsh B) gid feew
C) eififeier D) Aeitdrel
Answer Key : B Your Response : Not Answered

Question No. 17

Which of the following ingredients of cement, when added in excess quantity, causes the
cement to set slowly?

A) Lime B) Silica

C) lIron oxide D) Alumina

eie o1 P=fRf@a & @ Fia ar dq, 39 30 AEr 7 P Jar § ar @ Oy Je
817 T HRUT TAdT &7

A) a1 (Lime) B) faferar (Silica)
C) 3R 3fFarss (Iron oxide) D) WegfA=T (Alumina)
Answer Key : B Your Response : B (Correct)

Question No. 18

What is the best temperature for burning of bricks?

A) 1000°C - 1200°C B) 1300°C - 1400°C

C) 1500°C - 1700°C D) 1800°C - 1900°C

$et & Soe F AT Wafeaw a9 = g7

A) 1000°C - 1200°C B) 1300°C - 1400°C

C) 1500°C - 1700°C D) 1800°C - 1900°C
Answer Key : A Your Response : A (Correct)

Question No. 19

What is kept behind the stage to spread the sound evenly across the width of a hall?



A) Curved soundboard B) Microphone

C) Amplifier D) Light board

giar 1 iz &« A AT § A b & T FET F O w1 @ Sar g2

A) T& AT3sES B) HABSHIBIA
C) TF9ellhRR D) drse S5
Answer Key : A Your Response : A (Correct)

Question No. 20

The bending moment diagram of a simply supported beam carrying uniformly distributed load
over the entire span is-

A) Rectangle B) Square

C) Right angle triangle D) Parabola

R AR W thaAe GaRd SR a8 F dlell T W AT 67 1 el YO IRG

______®em

A) 3Tad (Rectangle) B) @37 (Square)

C) @A 87T (Right angle triangle) D) waed (Parabola)
Answer Key : D Your Response : D (Correct)

Question No. 21

The theme of International Day of Forests 2019 is-

A) Forests and water B) Forests and energy
C) Forests and sustainable cities D) Forests and education
IHRET o faaw 2019 #r Rvrawg |

A) T 3R gEr B) g 3R Fom

C) a7 3R add 8T D) & 3k fraw

Answer Key : D Your Response : Not Answered



Question No. 22

Which process is used to get petrol, petroleum gas, diesel, kerosene and fuel oil from

petroleum?
A) Vacuum distillation B) Zonal distillation
C) Fractional distillation D) Simple distillation

Yeifoad ¥ 9o, Yefod 3, 9, R 3R $ua dd ueg S F v FE umH a7
39T R AT 872

A) faaTa 3maasT (Vacuum distillation) B) & 3mHasT (Zonal distillation)
C) 9#TsT 3mHa«T (Fractional distillation) D) &l 31HdI (Simple distillation)
Answer Key : C Your Response : C (Correct)

Question No. 23

The second stage of survey to examine the general character of the area for deciding the most
feasible routes is known as-

A) Preliminary survey B) Trace-out

C) Detailed survey D) Reconnaissance

e Sgagy AT T AURT e & AT 87 fr gEey Rvar fr Jg W & Qv fFe J=
aTel WSETOT & GAY TROT I AT gl ATl 67

A) 9RfF$ FdeToT (Preliminary survey) B) & 373¢ (Trace-out)
C) &g |deioT (Detailed survey) D) 9#13T (Reconnaissance)
Answer Key : D Your Response : B (Wrong)

Question No. 24

The quick lime as it comes from kilns is called as-
A) Hydraulic lime B) Lump lime

C) Milk lime D) Hydrated lime

A q M aTer TS A T FAT FgT AT 67



A) ST AT (Hydraulic lime) B) aM& =T (Lump lime)

C) @as (Milk lime) D) SedifSia =11 (Hydrated lime)

.\

Answer Key : B Your Response : B (Correct)

Question No. 25

Who was the first Indian player to score a century in three successive test matches?
A) Lala Amarnath B) Saurav Ganguly

C) Bapu Nadkarni D) Vijay Hazare

e TR v A % o g oene arer gger AR @S Fie ar?

A) FTAT 3TFATYT B) &Ra amierelr
C) &Y sArseheit D) fasig gailRk
Answer Key : D Your Response : Not Answered

Question No. 26

Which country granted citizenship to the world's first humanoid robot?
A) China B) USA

C) Hong Kong D) Saudi Arabia

fre & A gfear & ggd egHelgs UAIE A ARIREAT ekt Hhr?

A) =T B) USA
C) BledT Pleal D) &34 3R
Answer Key : D Your Response : D (Correct)

Question No. 27

About energy is used to build new biomass in ecological pyramid.
A) 15% B) 30%
C) 10% D) 25%

qiquiis RUAS & TeeEr | FaT 1 39T A0 TRA & A#AT F o S aar )



A) 15% B) 30%
C) 10% D) 25%

Answer Key : C Your Response : Not Answered

Question No. 28

What is the maximum theoretical possible value of Poisson's ratio for a non-dilatant material?

A) 0.50 B) 0.67

C) 0.25 D) 0.33

I-Ferrdr @l & fw 6T AT (Poisson's ratio) T e Ha AT el giar 82

A) 0.50 B) 0.67
C) 0.25 [y 53
Answer Key : A Your Response : A (Correct)

Question No. 29

lonisation potential in a period is lowest for-

A) Alkali metals B) Halogens
C) Inert gases D) Alkaline earth metals
et 3mac & &I AT T eTad g 8l
A) &g erc3it B) ettt
C) 3ifsha D) & Feremgsit
Answer Key : A Your Response : B (Wrong)

Question No. 30
Which of the following is an endothermic process?
A) Evaporation of water B) Dilution of sulphuric acid

C) Sublimation of dry ice D) Both sublimation of dry ice

evaporation of water

and



gtdt q FieT A Feome HRATFT 2

A) YT & arsdiehior B) @eWIR® el AT AeJohiUl
C) s % T FEAUT D) b T & FtAdde X Gl @
Gl CICICAG ]
Answer Key : D Your Response : D (Correct)

Question No. 31

With the increase of turbidity, the muddy water appears brown due to the upward radiance peak

shift towards:
A) Green B) Red
C) Yellow D) Blue

digede (turbidity) # gfig & Y, 3iaT U fafERTorar R (upward radiance peak) &
#r IR oot Y Tl ¥ T WS & AT B

A) & B) oot
C) drerm D) silelr
Answer Key : B Your Response : Not Answered

Question No. 32

Biogas is composed mainly of and carbondioxide.
A) Ethane B) Chlorine
C) Methyl Isocyanate D) Methane
SN 7T 9 A IR FelAEEHFAGS & T g ¢
A) AT B) aFelNIeT
C) Af¥a mzarE-c D) #Hda
Answer Key : D Your Response : D (Correct)

Question No. 33

What is the rank of India in World Happiness Report 20197



A) 138 B) 142

C) 143 D) 140

dog g RAIE 2019 & ARA & & = 82

A) 138 B) 142
C) 143 D) 140
Answer Key : D Your Response : A (Wrong)

Question No. 34

Which of the following types of sleepers has the best shock absorbing capacity as well as
damping property?

A) CST sleeper B) Steel sleeper

C) Concrete sleeper D) Wooden sleeper

frfaf@a F @ fFa IR & ol 7 Fad 3= garad 1S (shock absorbing) &#HdT &
ArY-|rY 3PYaT (damping) [OT $F e 82

A) CST Tl B) TSl T TTR
C) @shlc TelluX D) ohal &l FelldR
Answer Key : C Your Response : D (Wrong)

Question No. 35

With which of the following countries is the famous golf player Vijay Singh associated?
A) Fiji B) Kenya

C) Malaysia D) Mauritius

yfag iew @ faor [T oo @ Fa o & wefea §2

A) sl B) edr
C) Ffmm D) &R
Answer Key : A Your Response : Not Answered

Question No. 36




Who among the following was appointed Chairman and Managing Director of ITC Limited in
May 20197

A) S. Sivakumar B) Sumant Bhargavan

C) Nakul Anand D) Sanjiv Puri

farafaf@a & & % #$ 2019 & ITC AT i Irewer vd ey AR AgFT R mar?

A) S. RigFaAr B) gHAd #HHas
C) el 3eic D) Feia &
Answer Key : D Your Response : Not Answered

Question No. 37

The period of the first five year plan in India was from-
A) 1951-1956 B) 1949-1954

C) 1950-1955 D) 1947-1952

AR H Ygell YuaulT distemr #r 3@ o% o4

A) 1951 - 1956 B) 1949 - 1954
C) 1950 - 1955 D) 1947 - 1952
Answer Key : A Your Response : A (Correct)

Question No. 38

The distance covered by an object in unit time is called

A) Speed B) Distance

C) Displacement D) Acceleration

Ui AT # FAT a8g q@RT 97 A 7 g F gl ST ¢
A) 3T B) &l

C) fawurge D) caxor

Answer Key : A Your Response : A (Correct)



Question No. 39

In MendeleeVv's periodic table, elements belonging to which of the following groups found a
place in the table later?

A) Sc, Ga and Ca B) Sc, Gaand Ge

C) Sc, Gaand Na D) Sc, Ga and Mg

#sellg dr mad Aol #, Arfaf@a 7 & fF a9 @ F@efta dodl @ 9 7 @il 7 afae
forar arr?

A) Sc, Ga 3iR Ca B) Sc, Ga 3R Ge
C) Sc, Ga 3R Na D) Sc, Ga 3iR Mg
Answer Key : B Your Response : B (Correct)

Question No. 40

The operation of moving iron meter is based on-

A) Heating effect B) Electro-static effect
C) Electro-magnetic effect D) Induction effect
el dilg AMYGT & Yool 9 3menRa g g
A) FHT geE B) f&dega wama
C) Tacgd dahg g D) 9RUT 98T
Answer Key : C Your Response : Not Answered

Question No. 41

Ibn-Battuta was born in

A) Morocco B) China
C) Greece D) Persia
G-Il FT 5o H g3m ol

A) HIFRT B) e

C) el D) uferar



Answer Key : A Your Response : A (Correct)

Question No. 42

A column of size 450 mm x 600 mm has unsupported length of 3.0 m and is braced against
side sway in both directions. According to IS 456 : 2000, the minimum eccentrics (in mm) with
respect to major and minor principle axes are:

A) 26.0 and 21.0 B) 20.0 and 20.0

C) 26.0and 20.0 D) 21.0and 15.0

450 fA#h x 600 A & 3MFR FT v FioAA (column) H AR &g 3.0 X ¥ Ak =t
feemait 31 3rerer 3rerer ST IAT §1 IS 456: 2000 F IR, W@ AR ALY Rgia 3w (major

and minor principle axes) & Ha¥ # e Ades (AT #) gl
A) 26.0 3R 21.0 B) 20.0 3T 20.0
C) 26.0 3R 20.0 D) 21.0 3R 15.0
Answer Key : A Your Response : A (Correct)

Question No. 43

If the member of a structure connected does NOT lie in the same plane, then the structure is

called as-
A) Plane Truss B) Main Truss
C) Foot Truss D) Space Truss

A 3 §U FFR F AF (member) FAET FAGA H FA¢T g § AN I§ TFH
Fgelrc gl

A) ToloT T (Plane Truss) B) &« & (Main Truss)
C) % & (Foot Truss) D) ¥99 ¢d (Space Truss)
Answer Key : D Your Response : D (Correct)

Question No. 44

To apply Simpson’s rule for computation of irregular area, number of segments should be-

A) Of equal width and even number B) May be of varying width also



C) Of equal width and odd number D) May be even or odd

AT &7 (imegular area) H IET F RAFawad & @AY A P F@ F fav, st

(segments) T TEAT 7 g =nfgul
A) SR TiEE AR @ gEr B) 3TcldT 3TA9T dlsTS
C) U dlsrs 3R RAwA Fear D) @# ar fawe
Answer Key : A Your Response : Not Answered

Question No. 45

A cantilever beam of length L has flexural rigidity El up to length L/2 from the fixed end and EI/2
for the rest. It carries a moment M at the free end. The slope at the free end is given by-

A) ML/2EI B) 3ML/2EI

C) 2ML/3El D) ML?2El

L 'oeaE & T FEeNar a7 fr R A A L2 daE d& 3=d7=1r g (flexural rigidity) El 3R
AT & fAT EN2 §1 39 W Fod Y W 3mgot M FF Fr ¢ Fod Y W alled & o @
fFaa garr yefRia foar srar 82

A) ML/2EI B) 3ML/2EI
C) 2ML/3El D) ML?2EI
Answer Key : B Your Response : D (Wrong)

Question No. 46

mode is used whenever either end of the security association is a security gateway.
A) Gateway B) Tunnel

C) Encapsulating D) Transport

As FT 3YART d9 Far Iar § I9 ff RARIRE oRivad &1 #15 [/
RAFRINE AT g B

A) dea B) Tool
C) Teahtgafear D) gEue

Answer Key : B Your Response : Not Answered



Question No. 47

In case of deep beam or in thin webbed R.C.C members, the first crack formed is-

A) Flexural crack B) Diagonal crack due to compression
C) Shear crack D) Diagonal crack due to tension
AT AT AT gdr 998 R.C.C Ha¥ (members) & AN &, Ugol Sa1 $h (crack) ___ 8T gl
A) Welaglel $heh (Flexural crack) B) dUSA (compression) & HROT [T shep
C) faRR % (Shear crack) D) ddd & HRUT fa&oT e

Answer Key : A Your Response : D

Question No. 48

Ramesh Bais is the present Governor of which of the following states?
A) Madhya Pradesh B) Uttar Pradesh

C) Arunachal Pradesh D) Tripura

WY 37 A=fRf@a 7 § 5 T & TaA78T Ts991a §2

A) T weew B) 3caX weer
C) 37¥UTael Jeer D) B
Answer Key : D Your Response : D (Correct)

Question No. 49

Which of the following is NOT a type of building?

A) Educational building B) Mercantile building

C) Institutional building D) Domestic building

S13 & AT UF SHARA & THR aT 87

A) A&+ sART (Educational Building) B) aIfuisfT ARG (Mercantile Building)
C) TEUWTT SARA (Institutional Building) D) =l $ARA (Domestic building)

Answer Key : D Your Response : Not Answered



Question No. 50

U4 and U, are the strain energies stored in a prismatic bar due to axial tensile forces P4 and P>

respectively. The strain energy U stored in the same bar due to combined action of P4 and P>

will be-
A) U< Uq+U, B) U=U4U,
C) U=Uq+Usp D) U>U4+U>y

Uy 3'11{ UZWuaﬁaﬁsﬁﬁmmﬁmmaﬁPﬁsza;mmgﬁﬁ Py and Py &I W AT & HROT Th

& R & WG Fet FeT U gl

A) U < Uq+Uy B) U=UqU»
C) U=Uq4+y 5 D) U > Uq+Uy
Answer Key : D Your Response : A

Question No. 51

What is the standard protocol of the internet?
A) SMTP B) POP

C) C++ D) TCP/IP

Seleic & AT WIehid (standard protocol) =T §?

A) SMTP B) POP
C) C++ D) TCP/IP
Answer Key : D Your Response : D (Correct)

Question No. 52

In order to make the floor glossy, it is rubbed with-
A) Sodium silicate B) Oxalic acid

C) Sodium carbonate D) Sodium hydroxide

w P THFER g4 & AT, 59 & gy forar e #l



A) afzaa RAfeec B) 3ifFdfas e
C) aifsa# FEfac D) HIfSYH gISsiadss

Answer Key : B Your Response : B (Correct)

Question No. 53

The standard size of AO sheet in mm is-
A) 594 x 841 B) 297 x 420

C) 420 x 594 D) 841x 1189

A0 2fie (sheet) T ARTH PR A 7 =1 8ar 872

A) 594 x 841 B) 297 x 420
C) 420 x 594 D) 841x 1189
Answer Key : D Your Response : D (Correct)

Question No. 54

In arrangement, the horizontal supports are given two adjacent parallel walls which
have become unsafe due to the removal or collapse of the intermediate building.

A) Flying shore B) Dead shore

C) Inclined shore D) Raking shore

yayr #, 37 &ifasT URT # & ey AR AN YeeT T Sy § St
HEFACT $ART & Udel & HROT AT gea & FROT IRRAIT a1 I §

A) TSI AR B) 33 2R
C) SeFallss AR D) ¥fFer e’
Answer Key : A Your Response : A (Correct)

Question No. 55

Weed growth in a canal invariably leads to-
A) Reduction in discharge B) Reduction in silting

C) Increase in velocity of flow D) Increase in discharge



TeX 7 WIUdaR FT s gl

A) 3Earst & Feldr B) fec # &aT
C) warg & 391 # 3fg D) dg<T # Selcall gl
Answer Key : A Your Response : A (Correct)

Question No. 56

The retained wall in continuation of abutments both upstream and downstream is called as-
A) Border wall B) Flank wall

C) Base wall D) Parapet wall

TR 3R SEFAENA Qar AR 3afeyfa & (abutments)

&g &ar (retained wall) Fr &gl ST gl

A) S &R (Border wall) B) Weish glar (Flank wall)

C) 3R &R (Base wall) D) #HsY &ar (Parapet wall)
Answer Key : B Your Response : Not Answered

Question No. 57

In general shear failure, continuous failure is developed between:

A) Edge of the footing and ground surface B) Below the ground surface
C) Foundation and the ground surface D) Ground surface and footing
HHAT 90T TA%erar (shear failure) #, ¥dd fawerdar (continuous failure), & a9
fasfaa gl 2
A) BT & T (Edge) 3R A3 Hcg B) ST#HIT FT Idg & A
C) w38y 3R W33 T@ag D) 138 &g 3R picar
Answer Key : A Your Response : Not Answered

Question No. 58

In which method are the length and breadth of the masonry walls at plinth level taken for the
calculation of quantities?



A) Centre line method B) Service unit method

C) Crossing method D) Bay method

IOTAT Y AT F AT oy & W R $r art i &« 3K s fFa @t & & o5 82

A) HeX s fafer B) ¥ar s&rs fafer (Service unit method)
C) wifder fafer D) & fafer (Bay method)
Answer Key : C Your Response : Not Answered

Question No. 59

The person who enjoys the easement right is called as-
A) Lessee B) Servient owner

C) Leaser D) Dominant owner

o safda & qOEERSR 9o (easement right) 81T &, 38 &gT T &1

A) T (Lessee) B) afdusc 3= (Servient owner)
C) e (Leaser) D) sifAdec 31=iX (Dominant owner)
Answer Key : D Your Response : Not Answered

Question No. 60

The window which opens outside a room of a building for admitting more light and air, is known

as-
A) Bay window B) Casement window
C) Lantern window D) Dormer window

f@shr S 31 gehrer 3R gar & AT T & AT T & Th FMN F AL ol § 39

__ #®dE
A) & f@sér B) ®HGR T@shr (Casement window)
C) dretesT T@sa D) SR f&sdhr

Answer Key : A Your Response : Not Answered

Question No. 61




The product of moment of inertia about the principal axes is-

A) O B) Infinite
C) <1 D) 1
T 38T W SI5cd 3MYVT T UG (product) B Bl
A) 0 B) 3feid
C) <1 D) 1
Answer Key : A Your Response : A (Correct)

Question No. 62

The specific gravity of tar ranges from-

A) 1.1t01.25 B) 3.15t03.5
C) 271t02.8 D) 4to5
eRT (Tars) T 3@ gdca & o gxar 2
A) 113 1.25 B) 3.15 & 3.5
C) 27 @ 28 D) 485
Answer Key : A Your Response : A (Correct)

Question No. 63

The minimum percentage of secondary steel in slabs for Fe-415 grade steel should be
of gross cross-section area.

A) 0.25% B) 0.15%

C) 0.12% D) 0.20%

Fe-415 35 V&« & AT Wl & Areafds W& #1 eiaed SfaRra qot 6y FIe &awer H
gleTr IR

A) 0.25% B) 0.15%

C) 0.12% D) 0.20%

Answer Key : C Your Response : C (Correct)



Question No. 64

If number of electrons in an atom is 8 and number of protons is also 8, what is the atomic
number of the atom?

A) 12 B) 10

C) 16 D) 8

afe Rl TTAIT] & goagldl HT FEAT 8 § AR Wl hr dEar st 8 §, o, WA H WA
TR T §7?

A) 12 B) 10
C) 16 D) 8
Answer Key : D Your Response : D (Correct)

Question No. 65

Archimedes' principle of buoyancy states that when a body is totally or partially immersed in a
fluid, it is buoyed up by a force which equals to-

A) Difference of weights of the fluid displaced B) Weight of the body and fluid displaced by
and that of the body the body

C) Weight of the fluid displaced by the body D) Weight of the body

IfHAET F coenasmar # gid I8 RMar § & 59 F$ a7 o7 #§ 3w a0 ©F &7 F N

gl 8, ol 9] W R aTel coellael aef & ST gIeT g
A) TaEuitd g 3R a¥q & #AR & 3R B) a¥d & #R 3R a&] carr faeurfid ga
C) 39 d¥q eanT fawurfid ga & 6 D) a&] % #R

Answer Key : C Your Response : C (Correct)

Question No. 66

Who won the Sahitya Akademi Awards 2018, among the following?
A) Uday Bhembre B) Gajanan Jog

C) Edwin J.F. D'Souza D) Paresh Narendra Kamat



frfaf@d # ¥ R 2018 & Wi Jrelee [REHR W iarem 1T &7

A) 3¢T HIFS B) ITSiTeled ST
C) usfae J.F. f3qar D) G slig HHAd
Answer Key : D Your Response : Not Answered

Question No. 67

NIT is the abbreviation of-
A) Notice Inviting Trading B) Notice Inviting Tender

C) Notice Inviting Training D) Notice Inviting Transaction

NIT &1 =7 3T 82

A) Aifeq serarsfear ¢faar B) sifcd soAamsicer <5
C) AfeH saarsfear efaar D) siifed sAasiesr grotasr
Answer Key : B Your Response : B (Correct)

Question No. 68

Consider the following statements:

I.Modulus of elasticity of concrete increases with increase in compressive strength of concrete.
Il.Brittleness of concrete increases with decrease in compressive strength of concrete.
lll.Shear strength of concrete increases with increase in compressive strength of concrete.

Which of the following statements are TRUE?

A) land Il B) I, 1land IlI
C) Iland Il D) |and Il
Afaf@d Fa«F W AR &

. @i fr wdfisH WA (compressive strength) ¥ T & W Fhie F AT AH
(Modulus of elasticity) # gfg g 21

Il. Fshie Hir ¥disF WHLA (compressive strength) # FAT F WY Fshie i FRAT 7 g g
gl

ll. e fr FNsw A (compressive strength) ¥ & & AruFhe i rawqor aeed



(Shear strength) sgar 1

ST q PieT TT FIF T §7?
A) 13RI B) I, Il 3R 1
C) Il 3R 11l D) I 3R 1l
Answer Key : A Your Response : D (Wrong)

Question No. 69

What is the 1's complement of 0000 1111 0010 1101 number?
A) 1111 1100 1010 1100 B) 1111 0000 1101 0010

C) 1111 0000 0010 1101 D) 1001 0010 1010 1100

&ar 0000 1111 0010 1101 & 1- & (1's complement) T &7

A) 1111 1100 1010 1100 B) 1111 0000 1101 0010
C) 1111 0000 0010 1101 D) 1001 0010 1010 1100
Answer Key : B Your Response : Not Answered

Question No. 70

Which piles are formed by driving a steel tube and shoe, filling with concrete, using upward
extracting and downward tamping blows alternatively?

A) Duplex pile B) Franky pile

C) Vibro pile D) Mac Arthur pile

FlsT AT 9ISl 39 Ager BEY 7 v go9 & T YeT Far SAam §, Fhe § 91T giar g2

A) 3TIFH UTSd B) hehr drSer
C) drssit uisdl D) #He 31T urser
Answer Key : C Your Response : Not Answered

Question No. 71

The movement of modern architecture started in the year of-

A) 1932 B) 1920



C) 1922 D) 1930

3Mefeieh Aol & iglell T eI fFE ¥ 7 g5 A

A) 1932 B) 1920
C) 1922 D) 1930
Answer Key : B Your Response : Not Answered

Question No. 72

Who among the following won the Spanish La Liga title 20197
A) Real Madrid CF B) FC Barcelona

C) Liverpool FC D) Manchester United FC

=faf@a # ¥ e | or fer 2019 &1 @ siar &2

A) Raer #f3s CF B) FC sTi&aliem
C) foraqer FC D) #e<¥eX FeArses FC
Answer Key : B Your Response : B (Correct)

Question No. 73

Which of the following is not considered as an error due to natural causes in tachometric

surveying?
A) Bad visibility B) Unequal refraction
C) Unequal expansion D) Inaccurate levelling of instruments

SRAfeF adferor F wrpfae FRuil & @AEfaf@a F & R R (error) &t AR ST 87

A) TS TIAT B) A 39dd
C) 1A fardR D) AT &l &I oidioldl
Answer Key : D Your Response : D (Correct)

Question No. 74

Which of the following sight distances is the longest of all?



A) Overtaking sight distance B) lllumination sight distance

C) Stopping sight distance D) Intersection sight distance

i@ et gRET & @ @l @ qff Fa& ot 32
A) 3eXefHer 3radliehed gl (Overtaking sight B) Yehrelel 3fdciihel g (lllumination  sight

distance) distance)

C) ThEdec 3f@ciiehed gl (Stopping Sight D) wfd=eesd 3fa@ciiehed il (Intersection sight

Distance) distance)

Answer Key : A Your Response : A (Correct)

Question No. 75

In cohesive soil, if the active earth pressure is zero, then the depth (z) is given by-
A) (2Cly) tana B) (Cly) cota

C) (2Cly) cota D) (Cly) tana

wHorh A (cohesive soil) & AFer #, WiFT & a1 (earth pressure) T Bl &, dF TS

(2) @R &r STl &
A) (2Cly) tana B) (Cly) cota
C) (2Cly) cota D) (Cly) tana
Answer Key : A Your Response : A (Correct)

Question No. 76

SSD condition of fine or coarse aggregates means -
A) Saturated Surface Densified condition B) Super Saturated Dry condition

C) Self Saturating and Densification condition D) Saturated Surface Dry condition

HeleT T AE S (aggregates) $r SSD fufa 1 «=r JfAwT 87
A) dqes ahy SfawIss HerrE B) W YIS IS hsIreT
C) ¥oth HRTEar Us SHIfthenereT Harer D) ¥z ahE g5 HERw

Answer Key : D Your Response : D (Correct)



Question No. 77

The type of shore which is preferably inclined at 45° with the ground is -
A) Horizontal shore B) Raking shore

C) Vertical shore D) Dead shore

, AR (shore) T TF YR § S HOAGT: A F WA 45° W Ygcd (inclined) g

gl
A) &ifdsr ek (Horizontal shore) B) ¥fFer X (Raking shore)
C) 3ieleis X (Vertical shore) D) 3% 2R (Dead shore)

Answer Key : B Your Response : B (Correct)

Question No. 78

A portion of a brick cut across the width is known as-

A) Closer B) Base
C) Half brick D) Bat
ﬁs@ﬁw&guéz%wmaﬁ_#wﬁmm%l
A) FelloR B) 3MYR
C) 3mem ¢ D) ¥
Answer Key : D Your Response : D (Correct)

Question No. 79

Name the pile type best suited for resisting horizontal and inclined loads in the soil.
A) Anchor pile B) Under-reamed pile

C) Batter pile D) Friction pile

39 9IS F AW Fae S AE 7 e AdR vged o) F v 3ugE @b B
A) THT 9ISel B) 3sX-{IFs urge
C) dgX Urgel D) fherereT drgel

Answer Key : C Your Response : C (Correct)



Question No. 80

Which of the following statements about pH is NOT true?
A) When pH is equal to 0 it is neutral B) When pH is equal to 7 it is neutral

C) When pH is greater than 7 it is basic D) When pH is less than 7 it is acidic

pH & R &, 51 & PleT AT FUT T el 67
A) 3§ pH 0 & sXeR &, df I 3erE ¢l B) Si& pH 7 & S&X &, ar Jg 3eie gl
C) &« pH 7 & 318« &, af I8 &R gl D) 5§ pH 7 & & & d Jg 3T &l

Answer Key : A Your Response : A (Correct)

Question No. 81

The scale of a drawing is given as 1 : 20.
What is the representative fraction?

A) 1/200 B) 1/20

C) 5/20 D) 20/2

31597 T AT 1 : 20 f&ar I §1 58T A%us fAwT (representative fraction) =T g19m?

A) 1/200 B) 1/20
C) 5/20 D) 20/2
Answer Key : B Your Response : B (Correct)

Question No. 82

is a freehand drawing technique that uses no drafting equipment.

A) Drafting B) Angular lines

C) Parallel lines D) Sketching

T RS 59T ddelieh &, T g ST 30T HT IYANRT AT fohar ST 8
A) 3fer@s (Drafting) B) @Ivfir @V (Angular lines)

C) FHAIR WU (Parallel lines) D) &R (Sketching)



Answer Key : D Your Response : D (Correct)

Question No. 83

Loss of stress with time at constant strain in steel is called as-

A) Ductility B) Relaxation

C) Creep D) Shrinkage

el # PR dde W @77 F 9y gfdee @ gifer &r gl ST gl

A) d=gar (Ductility) B) el (Relaxation)

C) s (Creep) D) d%de (Shrinkage)
Answer Key : B Your Response : B (Correct)

Question No. 84

The distance between the running faces of the stock rail and gauge face of tongue rail
measured at the heel of the switch is known as -

A) Flangeway clearance B) Heel divergence

C) Throw of switch D) Flare

faa & & (heel) 9T AT I$ FiF I (stock rail) F I vy 3R <91 I (tongue rail) &

It B & AT B g A ¥ ¥ 3 ST S ¥
A) FTS Fraly B) &l SIgdsid
C) I 3w aa D) weiX (Flare)
Answer Key : B Your Response : A (Wrong)

Question No. 85

To represent a character, EBCDIC : Extended Binary Coded Decimal Interchange Code uses

A) 7-bit B) 2-bit

C) 8-bit D) 16-bit

AT T MFeT EBCDIC #: TaHCSS S50 HISS SHAA Selusl Hhis & FT IGANT



giar &l

A) 7-fsc B) 2-fae
C) 8 fsc D) 16-fac
Answer Key : C Your Response : Not Answered

Question No. 86

are much larger than capillary pores.

A) Air voids B) Micro cracks

C) Blow holes D) Macro cracks

iR Bl @ 9gd 9 @ §

A) arg fa&T (Air voids) B) A &I (Micro cracks)

C) sal gled D) &wr XX (Macro cracks)
Answer Key : A Your Response : Not Answered

Question No. 87

A'level line' is a-

A) Horizontal line B) Line passing through the center of cross
hairs and the center of eye piece

C) Line parallel to the mean spheriodal D) Line passing through the objective lens

surface of earth and the eye-piece of a dumpy or tilting
level
‘IoT {@r' T gt 872
A) &fas @r B) % 8W & g AR o9 & g § o
arell @1
C) gdr i #ATey Moy FGg & FHGKR D) 9aTh ofF IR FG3-WEs I ghd TR &
X@r A9k F IR dTell QT
Answer Key : C Your Response : C (Correct)

Question No. 88




testing is probably the most frequently used means of NDT.
A) Rebound hammer B) Acoustic mapping

C) Radar D) Ultrasonic pulse velocity

qdBToT WIad: NDT & fov @« 310« a1 39dier fFar S arer aree #1

A) {13 g7X (Rebound hammer) B) tafeieh HAEIIAUT (Acoustic mapping)
C) UsSR (Radar) D) 3fecr@ifded Yed@ a9 (Ultrasonic  pulse
velocity)
Answer Key : D Your Response : D (Correct)

Question No. 89

Which type of gate is generally used for low navigation dams?
A) Bear trap gate B) Vertical lift gate

C) Rolling gate D) Drum gate

HHACGR ) & AfFERE 37 & AT e YR & 37 (aiY) F 3939 Far srar g2

A) €T ¢T dC B) e ad fowe dic
C) fedr e D) 3H JT
Answer Key : A Your Response : Not Answered

Question No. 90

The yield strength and ultimate strength of 4.6 grade bolts are-
A) 240 N/mm? and 400 N/mm? B) 20 N/mm? and 28 N/mm?

C) 200 N/mm? and 400 N/mm? D) 200 N/mm?2 and 280 N/mm?

4.6 I3 T Siec Hr WIT ALY (yield strength) 3R = G
(ultimate strength) fraetr gXdr &2

A) 240 N/mm2 3k 400 N/mm?2 B) 20 N/mm?2 3k 28 N/mm?2

C) 200 N/mm?2 3R 400 N/mm2 D) 200 N/mm?2 3ik 280 N/mm?



Answer Key : A Your Response : A (Correct)

Question No. 91

Name the acid present in nettle sting.
A) Oxalic acid B) Acetic acid

C) Citric acid D) Methanoic acid

sicel f&TT (nettle sting) 3 HlS[g 3Fer T A1 FaTC]

A) 3TFaETfo e B) vfafes 3
C) Rafesw 3Far D) #AAAISH 3FoT
Answer Key : D Your Response : D (Correct)

Question No. 92

At a point in a steel member, major and minor principal stress in 1000 kg/cm2, and minor

principal stress is compressive. If uniaxial tensile yield stress is 1500kglcm2,then magnitude of
minor principal stress at which yielding will commence, according to maximum shearing stress

theory is-
A) 200 B) 500
C) 600 D) 1000

e AFR & B g W, #Aew 3dv A fiffve ®w 1000 fFamasd 2 §, 3k #AR
Rfua T FI@AT §1 I eF3 /e des &H (uniaxial tensile yield stress) 1500
framah? §, o aftwras Rl ®w Reia & 3ar, o W AfesT g g, A fifva
H & gR&ATT gl

A) 200 B) 500
C) 600 D) 1000
Answer Key : B Your Response : Not Answered

Question No. 93

The unit of viscosity is -

A) m-kg/hr B) kg/m-hr2



C) kg/m-hr D) kg/m?

QTSI (viscosity) Fr ghe g &1
A) Hr-fram/ger B) fram/age?
C) foram/ #-ger D) framm/a?2
Answer Key : C Your Response : C (Correct)

Question No. 94

A simply supported beam is subjected to a linearly varying load from one end to other end. The
nature of variation of shear force diagram is-

A) Elliptic B) Parabolic

C) 3rd degree curve D) Linear

tF farqelr gWEs & (simply supported beam) U Y ¥ @Y faY d& (@« dRadf «is
(linearly varying load) & 37eflT @1 3HY®IYOT o 3IR@ (shear force diagram) I Wepfa

YR gran|
A) 3usiarX (Elliptic) B) Wadide (Parabolic)
C) 3 33t as D) @I (Linear)
Answer Key : B Your Response : B (Correct)

Question No. 95

A hipped roof is-

A) One which has at least two different types B) One which has at least two different slopes

of covering materials

C) One which slopes in four directions D) One which slopes in two directions

g8aR & (hipped roof) & gt 2

A) a8 Bd 98 A T FA o FeE-37e@T B) a8 &d O &H & &H @& 3cld-37cldT
YR T 3MaRoT T g § Gollel B &

C) 9 ©d o= IR fGemsft & ol 81 & D) dg ©d foieter ar fgm3it # aolel gid &



Answer Key : C Your Response : C (Correct)

Question No. 96

Which type of beam, freely supported at two points, has one or both ends extending beyond
these supports?

A) Simply supported beam B) Cantilever beam

C) Fixed beam D) Overhang beam

fre w1 A, o Rigt @ wadT w7 & wafda ¢ 3R s awdEt @ W e ar et BR §7

A) FURUT: FARYT @A B) éloiaT stH
C) Tohfdas §fiF D) 3flaRger e
Answer Key : D Your Response : D (Correct)

Question No. 97

Another name of computer antivirus is-

A) Worm B) Vaccine
C) Trojan horse D) DES
HOYET & RITH HT GERT A T 87
A) T B) derdle
C) TIeie BT D) DES
Answer Key : B Your Response : C (Wrong)

Question No. 98

What is the shear area of a rolled steel |-section for minor axis bending?
(Where h-overall depth; b-breadth; t,-thickness of web; te-thickness of flange)

A) hty, B) 2bt

C) bt D) ht

AR uiad §f=s9 (minor axis bending) ¥ AT Ues T |-ARE Fr MR wRAT (shear



area) FT gHM?
Sgl (h-el IS (overall depth); b-=ilsts; t,d9 #r Hew; t- Felst A HIEE (thickness of

flange)

A) ht, B) 2bt
C) Dbts D) ht;
Answer Key : B Your Response : Not Answered

Question No. 99

The shape factor for a solid circular section of diameter D is equal to:

A) D/2m B) 16/3m
C) mDh/8 D) 15/2m
= D ¥ e MaepR @5 & fav 99 thaex (shape Factor) & TET 8T gl
A) D/2m B) 16/3m
C) mbh/8 D) 15/2m
Answer Key : B Your Response : B (Correct)

Question No. 100

A rapid test to indicate the intensity of pollution of water is-
A) Total Dissolved Solids B) Biochemical Oxygen Demand

C) Most Probable Number D) Dissolved Oxygen

, el & FGNUT HT cfigrar @ e & fAw v s aRemor(rapid test) &
A) qUid: faeliet 3| qerd B) shfA®e 3iFdelel f3ATS  (Biochemical

oxygen demand)

C) AT Jided s D) Tl 3ifeHstal (Dissolved oxygen)

Answer Key : D Your Response : D (Correct)

Question No. 101

To avoid vapourisation, pipe lines are laid over the ridge so that they are not more than



above the hydraulic gradient line.

A) 6.4m B) 2.4 m
C) 5m D) 10 m
arfiEoT ¥ 999 F fov, RS (ridge) F IW T aizsr & 30 W 7181 Pow
& afF 3 g ARTe ad § 3 &
A) 6.4 = B) 2.4 =
C) 5&r D) 10 #
Answer Key : A Your Response : Not Answered

Question No. 102

Which type of surface finishing in Brick Masonry / Block Masonry / Stone Masonry treats only
the joints edges and not the full wall surface?

A) Plastering B) False ceiling

C) Grouting D) Pointing

$ | sdter | ¥ fAeTs 7 e g@R i wiha fBafier # Faa st & fFant & swala fmar
ST &, QU SaR AT A§ Pl Tol?

A) CerEeiaT B) wred Hifelar
C) am3fear D) drigfear
Answer Key : D Your Response : D (Correct)

Question No. 103

The ratio of the inertia and viscous forces acting in any flow, ignoring other forces is called as-
A) Froude number B) Reynold number

C) Weber number D) Euler number

I gl B A A A g, B oh vae A FRRA SEar IR W well F AT
el SATeT ¢l

A) Wi T&IT (Froude number) B) sies @EAT (Reynold number)



C) asX §&ar (Weber number) D) e &&AT (Euler number)

Answer Key : B Your Response : B (Correct)

Question No. 104

A column with highest equivalent length has-
A) One end fixed, the other entirely free B) Both ends hinged or pin-joined

C) One end fixed, the other end hinged D) Both ends fixed

3RIAHA ded oldr$ drel T (column) |

A) Ut & g, ga@r QU RE & Hod B) car X féor ar Ma-siss
C) ww R fverw, gavr R R D) a=t X frerw g &
Answer Key : A Your Response : A (Correct)

Question No. 105

Which of the following is an endemic species in India?

A) Whales B) Lion-tailed macaque
C) Panda D) Asian elephant
gTH ¥ FleT W AR Hr TUT gonfa 87
A) @ B) fgH@ s (Lion-tailed macaque)
C) st D) uRrarg gra
Answer Key : B Your Response : B (Correct)

Question No. 106

By which of the following lines is the axis of the cylinder or sphere denoted?
A) Leader line B) Section line

C) Hidden line D) Centre line

faelst a1 oy & 3neT @1 Afaf@a & & fre Y@ ganT g ST 82
A) ST dsd B) %A oS



C) f@3eT ogat D) X oSl

Answer Key : D Your Response : Not Answered

Question No. 107

If a body is acted upon by a set of mutually perpendicular shear stresses, the diagonal planes
are likely to have-

A) Tension only B) Compression only

C) Tension and Compression D) No tension or compression

Ifg ' U3 & FW WER daad R TH (shear stresses) F A FRT &, @Fol (diagonal

planes) TATAT & @Y Fr Haraar giar g1

A) Fael ged B) hae HUise

C) ddra 3R gdis D) &8 dalld 3R gUisT =Agr
Answer Key : C Your Response : Not Answered

Question No. 108

Plaster of Paris is obtained from the calcination of-
A) Bauxite B) Dolomite

C) Gypsum D) Lime stone

AT A AT fhae $Fedisiee (calcination) & wTed gidr &2

A) Siedse B) 3BT
C) owa#H D) TT 92X (Lime stone)
Answer Key : C Your Response : C (Correct)

Question No. 109

Which of these methods of tunnel construction is not suitable in rocks?
A) Drift method B) Compressed air method

C) Heading and benching method D) Full face method

g1 @ FET AT (tunnel construction) Fr it RAfr =@l F 3ugwT @ 872



A) f3we afer (Drift method) B) @difsd arg faf&r (Compressed air method)

C) gfsar 3 dffer faf®r (Heading and D) %o %& fafer (Full face method)
benching method)

Answer Key : B Your Response : Not Answered

Question No. 110

In operating systems, what is the full form of RAG?
A) Resource Append Graph B) Risk Approach Graph

C) Risk Allocation Graph D) Resource Allocation Graph

AfRfeer fees 7, RAG & Qo7 §9 1 87

A) RaE 3Mus o B) R¥® wua ams
C) R¥= wdlhe I D) RO waliehe e Amh
Answer Key : D Your Response : Not Answered

Question No. 111

Floating foundation means -

A) A normal foundation which can raise and B) A foundation floating on water like barges

float during floods

C) A foundation in which new loads due to D) A foundation cannot be floating type under
the structure are equal to the weight of the any condition

soil removed by excavation

FAIfeaT B3 T dlca 4T 272
A) @ART sAig (foundation) ST &6 & GRTeT B) #Aleh (barges) Fr aRg Ul W o} @l g
35 (raise) 3R R Hehcll g

C) gg g (foundation) fS@H TeFax D) =g fhar o od & AdTd Tl TR I
(structure) & @HRUT AT oIS, Ta$ AR ERRETI
el 15 ALY & a9t & I« 8T gl

Answer Key : C Your Response : C (Correct)



Question No. 112

Default pointing device of a laptop is-

A) Sensitive screen B) Touchpad
C) Tap pad D) Optical mouse
ducia &1 Bwiee uigfeer Bagw i ar 872
A) dfafea whia B) cuis
C) ¢u Uz D) 3ifCcarar AT3H
Answer Key : B Your Response : B (Correct)

Question No. 113

Full architectural and structural drawings are required for which type of estimate?
A) Detailed estimate B) Functional unit estimate

C) Rough or preliminary estimate D) Supplementary estimate

qot arRgRIedT iR SEETcHs Y@IRT 78 YR & el 7 3TaRTS giar 87

A) e 3meherst B) ®RiTcH® gaplg JTeholel
C) I% &1 YRTH® 3HTholel D) #gedlqieh 3HTehold]
Answer Key : A Your Response : A (Correct)

Question No. 114

Quadrennial repair is done in-

A) Twice a year B) Fourtimes a year

C) Alternate year D) Once in four years
Farg-13Tel (Quadrennial) T ATFAT 7 fr S g1

A) TH ¥ H ar §R B) T d¥ # IR aR

C) d&feds a¥ D) IR a¥ # U& aR

Answer Key : D Your Response : Not Answered



Question No. 115

The strength of compression members subjected to axial compression is defined by curves

corresponding to classes.
A) e f, g B) b,e, f
C) a,b,candd D) a,d
ey Fdsa & el dlisT fReal i WA (strength) & g3t & HIIT Rl ganT
aRenfa & Srar g
A) e f, g B) b, e, f
C) a, b, c 3R d D) a, d
Answer Key : C Your Response : Not Answered

Question No. 116

The smaller horizontal angle between the true meridian and a survey line, is known as-
A) True bearing B) Arbitrary meridian

C) Azimuth D) Magnetic bearing

aEdfas ARRIT 3K v Fdeor [@r & i a1 ol AR Fiur, Fae § 7 = Sar 872

A) T 9T B) #eiATAT RRIfeg (Arbitrary meridian)
C) iy D) dsehra dRaT (Magnetic bearing)
Answer Key : C Your Response : C (Correct)

Question No. 117

The temporary all round enclosure which keeps the water away from the working area by using
vertical barriers is called-

A) Arch dam B) Gravity dam

C) Coffer dam D) Earthen dam

FeaTeR ARNTT F1 ST FIh el H FE 8T F g¥ W@ & fAv AfFAT e a_t-3i § =
(all round enclosure) & AT ST ST §7?



A) 3T & (Arch dam) B) &cdrenyor &t (Gravity dam)
C) &ImX 1Y (Coffer dam) D) f&Er &1 amer (Earthen dam)

Answer Key : C Your Response : C (Correct)

Question No. 118

In which type of plan is space left around the construction of the building?
A) Landscape plan B) Line plan

C) Detailed plan D) Foundation plan

19 & [AFT F ST P YR o Aster 7 Serg T1r §7

A) osThT Iister B) oiSsl Jretell
C) fa¥qd A= (Detailed Plan) D) §fAICY A= (Foundation Plan)
Answer Key : A Your Response : Not Answered

Question No. 119

If the particles of a fluid attain such velocities that vary from point to point in magnitude and
direction as well as from instant to instant, the flow is said to be-

A) Uniform flow B) Laminar flow

C) Non-uniform flow D) Turbulent flow

Ifg ga For (fluid particle) Y& aT T wred FIA ¢, S gR@AT0T 3R fRRr F g & g (point to

point) d& 3R & & ge-9er (instant to instant) sgad Wa &, dF W Ya©§ F C )
ST B
A) THEATT 9a1ig (Uniform flow) B) offeR garg (Laminar flow)
C) IR-TteaaAET garg (Non-uniform flow) D) &Iy Ydrg (Turbulent flow)
Answer Key : D Your Response : D (Correct)

Question No. 120

The cost of construction including all the expenditure incurred from beginning to the completion
of work is called as-

A) Approximate cost B) Capital cost



C) Labour cost D) Material cost

T R i AT SR FH YE A o QU gl o F ART @9 AfAd g, 39
gl I ¢l

A) ITHATAT AT B) Gair et
C) HH ded D) @t dr emerd
Answer Key : B Your Response : B (Correct)

Question No. 121

A railway yard in which wagons are received, sorted and new goods trains are formed is called-
A) Shunting yard B) Marshalling yard

C) Station yard D) Goods yard

ag a 95 f3Ed A9 (wagons) &I WIS, HIE (sorted) fRam Sirar § 3R A% AT ¢ SoIg
S &, g g

A) <ifear I15 B) #meIfeleT I8
C) T IS D) #Te A8 (Goods yard)
Answer Key : B Your Response : B (Correct)

Question No. 122

is the collective term for the physical manifestations of the defects like cracks,
spalling, pop out, staining and corrosion.

A) Preservation B) Distress

C) Defects D) Failure

e, RO, OfT 3m3e, uer AR aRoT & Nt Hr aiRE aPaFaEt & v
Hfew Ueg B

A) 9RIETUT (Preservation) B) faufea (Distress)
C) av (Defects) D) fawerar (Failure)

Answer Key : B Your Response : A (Wrong)



Question No. 123

The purpose of a Well Point System is -
A) Desilting B) Dewatering

C) Resisting Soil Pressures D) Forming underwater foundation

aol warse f@¥ed (Well Point System) T 333T T §?
A) sHifeedr (Desilting) B) fasteler (Dewatering)

C) #g a9 faUY (Resisting Soil Pressures) D) 9l & & &l & & (Forming

underwater foundation)

Answer Key : B Your Response : Not Answered

Question No. 124

Eutrophication of water bodies is caused by the-
A) Excessive discharge of suspended solids  B) Excessive discharge of nutrients

C) Excessive discharge of chlorides D) Discharge of toxic substance

& HRUT Sl At @1 g (Eutrophication) gar ¥l

A) efed 3 #r FAcaes Brae B) WY& dcdl & Tt fBramer
C) FRISS &l 3T 3EdreT D) fader 9oy & fB3Ears
Answer Key : B Your Response : B (Correct)

Question No. 125

In Vicat apparatus, the paste is said to be of 'Normal consistency’ if the rod penetrates-

A) 331035 mm B) 23 to 25 mm

C) 5to 10 mm D) 1 mm

e Vew (Vicat apparatus) #, Ife s guaT 8, o R F WA R
(Normal consistency) & & & &gl ST gl

A) 33 & 35 A B) 23 & 25 fAe

C) 5 ¥ 10 el D) 1 f&eh



Answer Key : A Your Response : A (Correct)

Question No. 126

In case concrete is to be transported by pumping, the slump of the concrete should be-

A) More than 1 cm B) Between 5to 7.5 cm
C) More than 2.5 cm D) Between 2.5to 5 cm
IR SR GERT SHE A & SR @), aF ST F T (slump) QT =Rl
A) 1 3 & 3R B) 5¥ 7.5 ¥ & &
C) 2.5 ¥+ ¥ 3= D) 25 ¥ 5 WA & &=
Answer Key : B Your Response : B (Correct)

Question No. 127

The bearing capacity factors N , Ng and N; are function of-

A) Width and depth of footing B) Angle of internal friction of soill
C) Density of soil D) Cohesion of sail
3 &AM FNF N , Ng 3R N, & & gl
A) ®feer Fr diss AR TS B) A & 3MTcRer &¥oT &1 HloT
C) A &1 uelca D) THET T FATIHIOT

Answer Key : B Your Response : D (Wrong)

Question No. 128

In AutoCAD, a cylinder can be created by drawing a rectangular shape using tool.
A) Extrude B) Polysolid
C) Revolve D) Sweep

3ANFs &, T AR Hpfa Gt AR BT ol &1 394091 F a9l (cylinder) Serm
ST FehaTl 1

A) tFHES (Extrude) B) urediters (Polysolid)



C) Rarea (Revolve) D) &I (Sweep)

Answer Key : C Your Response : B (Wrong)

Question No. 129

The point within the cross sectional plane of a beam, through which the resultant of the external
loading on the beam has to pass through to ensure pure bending without twisting of the cross-
section of the beam is called as-

A) Elastic centre B) Moment centre

C) Shear centre D) Centroid

9 F FW ARG T F MR F B, Tas aegd & d7 W Tl @EFT & oo F
AIEIH § TGRAT 93T § I A F FlE-QRE F1 AT e g g gafReaa fBrar sm &,
38 ___ el ST gl

A) dlIeR g (Elastic centre) B) Udl-Uel &1 g (Moment centre)
C) &=t &g (Shear centre) D) shegs (Centroid)
Answer Key : C Your Response : C (Correct)

Question No. 130

The significant property of CPVC, which differs it from PVC is -
A) Improved heat resistance B) Higher scrap value

C) Heavy weight D) Decreased heat resistance

CPVC & o1 & FleT |1 Ageaqol 0T, 38 PVC H 37elT SaTclm g7
A) SgaRX FsA  9fay  (Improved heat B) 3T T4 #AlT (Higher scrap value)

resistance)

C) #rr g3l (Heavy weight) D) &t FsAT 9fady (Decreased heat

resistance)

Answer Key : A Your Response : Not Answered

Question No. 131

What is the main directory of a disk called?



A) Root B) Sub

C) Network D) Folder

35 A A&T SRRF I AT Fgl A1 872

A) & B) &«
C) sica® D) West
Answer Key : A Your Response : A (Correct)

Question No. 132

The Internet was originally a project of which agency?
A) NSA B) Pentagon

C) ARPA D) NSF

geteie Held: fre Tordr & Weee ar?

A) NSA B) dcare (Pentagon)
C) ARPA D) NSF
Answer Key : C Your Response : C (Correct)

Question No. 133

The period of cleaning of a slow sand filter, is usually-

A) 5to 10 days B) Three months to six months
C) One month to three months D) Two weeks to three weeks
Hg o] i Ede® (slow sand filter) i THE Hr 3@, JHAIR W &l &1
A) 58 10 feo B) dle AdlY & ©F HAQll doh
C) Th F ¥ I 7 I D) & dcdie & d\ acdiE aF
Answer Key : C Your Response : C (Correct)

Question No. 134

Mortar or concrete conveyed through pressure hose and applied pneumatically at high velocity



on structural surfaces is called-
A) Sealing B) Grouting

C) Guniting D) Spraying

gIe Aol & ATeIH ¥ WRT 3R T 9dT §7 & TTecA® daf W 3T AT § @NT 3T AR AT
HehIC T AT gl ST &7

A) #ifelar B) am3fear
C) dr=msfear D) f&sara (Spraying)
Answer Key : C Your Response : C (Correct)

Question No. 135

A longitudinal crack which is usually normal to the annual rings in wood is called-
A) Star shakes B) Heart shakes

C) Cup shakes D) Checks

T IHetd AN ST AR 9T ofhsr & alffish Seol (annual rings) & AT AT g 8, 34
T gl STl g7

A) TR AF (Star shakes) B) g AFH (Heart shakes)
C) &9 A% (Cup shakes) D) d% (Checks)
Answer Key : D Your Response : A (Wrong)

Question No. 136

The coefficient of permeability of gravel is-

goi{Y (gravel) ®r YREEIAT IUTH g 1
A) 106 IFAFE § FH B) 1 3R 100 ¥#H/Ass & &

C) 1 x 108 3R 1 x 1023 aef/dsz & &g D) 0.001 3R 1 G#A/@sHs & o



Answer Key : B Your Response : D (Wrong)

Question No. 137

An increase in load at the free end of a cantilever is likely to cause failure-

A) At the free end B) Anywhere in the beam

C) Atthe mid of its length D) At the fixed support end

HENIR & AFd O W AR # g & 9T fAwerdr (failure) $r WG B

A) 7 Y W B) &\ & &gl W ol

C) STI odls o AT H D) fhfdds @8R & 37d W
Answer Key : D Your Response : Not Answered

Question No. 138

The point where the alignment changes from a straight line or tangent to a circular curve is

called as-

A) Point of commencement B) Point of curvature
C) Point of tangency D) Finishing mark
a8 fig o0 W v a% T g 8, 39 FgT T &

A) 3R 1 fdg (Point of commencement) B) @shl &1 fdg (Point of curvature)
C) T9e@r @ fdg (Point of tangency) D) fRfafrer &A% (Finishing mark)

Answer Key : B Your Response : A (Wrong)

Question No. 139

The area covered by all floors of the building is called-
A) Floor area B) Built up area

C) Floor space index D) Carpet area

stad & Tt AfSaT ¥ resfed 8T FF AT FHgr AT §?
A) w817 (Floor area) B) faf&a &= (Built up area)



C) ¥R TH gsad (Floor space index) D) erellel &1 (Carpet area)

Answer Key : B Your Response : A (Wrong)

Question No. 140

In case of web crippling, the dispersion of load from bearing plate takes place at:

A) 30° B) 60°
C) 45° D) 10°
a9 forafeier i ffufa &, saRer coe @ &z # haa T @I g
A) 30° B) 60°
C) 45° D) 10°
Answer Key : A Your Response : A (Correct)

Question No. 141

In MS-PowerPoint, what is the shortcut key you can press to start the presentation from the first
slide?

A) Alt+F5 B) Ctrl +P

C) Alt+ Tab D) F5

MS-dfaRuise &, 3T 9 A FT 2AéHhe T (shortcut key) FT 3YANT Ygoll TSS W FoicHsT
Y& T F AT #7872

A) Alt+F5 B) Ctrl + P
C) Alt + Tab D) F5
Answer Key : D Your Response : D (Correct)

Question No. 142

Bench mark is established by -
A) Spirit levelling B) Hypsometric levelling

C) Barometric levelling D) Trigonometrical levelling

& AR GaRT TR frar Sirar g



A) TEaRe orafelsr (Spirit levelling) B) fRatafes wafeier (Hypsometry levelling)
C) srAfeew oafelar (Barometric Levelling) D) BoifAad oafeer  (Trigonometrical

levelling)

Answer Key : A Your Response : A (Correct)

Question No. 143

Calculate the molecular masses of CH3zOH.
(Atomic mass C-12,H-1,0-16)
A) 32¢g B) 319

C) 30g D) 35¢g

CH3OH (WA geddAe C-12, H-1, O-16) & 3MIIfdeh ged Al T 0w Hifsiw]

A) 32 I1H B) 31 amHA
C) 30 arH D) 35 ImH
Answer Key : A Your Response : A (Correct)

Question No. 144

What is a 'Coping'?

A) Ornamental moulded course placed on B) A projecting piece usually provided to
the top of wall support a truss

C) A projecting piece usually provided to D) A covering of concrete placed on the
support a roof exposed top of an external wall

YT (coping) FAT §7
A) daR & MY W @ T FAIHT Aless B) NAAN W T & FUIE & fAv yae famar

FIF (Ornamental moulded course ) ST arelr Wieifdesr 9a
C) AR W Th BT & FUC & AT Ygid D) e §aR & ol MY W @ T Fshle F
forar Ser arerm dafEder 9 37T
Answer Key : D Your Response : D (Correct)

Question No. 145




Which of the following is NOT a green house gas?
A) Carbon dioxide B) Methane

C) Hydrochlorofluorocarbons D) Oxygen

frafaf@a 7 & =i fie 3w A =16 872

A) HIeT SBHTFASS B) #Hd=
C) ETSgIFARIAIEe D) 3t
Answer Key : D Your Response : D (Correct)

Question No. 146

In which method of disposal of municipal solid waste, the waste is dumped in the soil?
A) Incineration B) Land filing

C) Composting D) Shredding

TIRYIfadr & 3 3afRse & Aueny i fFa [ 7 3afse o @ 7
Rafera fFar siar 82

A)  HEHAROT B) iz fhfelar
C) FHeuIEedr D) Af3sr (Shredding)
Answer Key : B Your Response : B (Correct)

Question No. 147

In which case will the permissible incline in belt conveyor be maximum?
A) Dry silica sand B) Foundry sand

C) Wet clay D) Coal run of mine

aled 92 A R FH 7 AT o AfFAA g 82
A) gdr fafersr @ B) TYmEY T
C) dfrelr et fAET D) @ & &l 3T &

Answer Key : B Your Response : Not Answered



Question No. 148

What is the permissible tensile stress in bolts used for column bases?
A) 120 N/mm? B) 150 N/mm?

C) 0.4 N/mm? D) 0.6 N/mm?

T IMURT F AT 39ANT T S arer el # HFAT T IaT T F4T 87

A) 120 N/mm? B) 150 N/mm?2
C) 0.4 N/mm?2 D) 0.6 N/mm?
Answer Key : A Your Response : Not Answered

Question No. 149

What is Bagasse? What is it used for?
A) Vermi compost — as fertilizer B) Biogas — used as fuel

C) Liquid D) Sugarcane waste — to make paper

waste — as fertilizer

I FAT §? SHAT FAT AT §7

A) THT FFARET - 3RH & T H B) SR - $UT & T H 39T fhaAT ST §
C) gd 34fIse - 3 & FT & D) IeaAT UMISE - HETST Foled & ol
Answer Key : D Your Response : D (Correct)

Question No. 150

Minamata disease is caused by-

A) Noise pollution B) Methylmercury
C) Air Pollution D) Soil Pollution
#ATATar 9T & HROT e &

A) edfel Jeyor B) AU

C) arg HGmoT D) FT ST



Your Response : B (Correct)

Answer Key : B




